
REVISION TEST - 1 F.M 15

1) Answer the following questions- 5marks

i) What made Georgie go into the woods?

ii) How did Georgie take the scarlet berries home?

iii) What does the phrase ‘wave of happiness’ mean?

iv) Why did the voice say ‘weeping is not allowed in my woods’?

v) At the end of the story ‘the lantern and the fan’, the father-in-law v) At the end of the story ‘the lantern and the fan’, the father-in-law 

compared the daughters-in-law to what?

2) Write the word meanings of the following words- 4 marks

i) thrive- __________________________

ii) harsh - _________________________

iii) immensely - _____________________

iv) exquisite -



3) Circle the Direct Objects and underline the Indirect

Objects in the following sentences. 3 marks

i)The woman offered the beggar a piece of bread.

ii)Ravi’s grandfather told him an interesting story.

iii)The Principal promised the boy a scholarship

4) Rearrange the letters to make a correct word - 3 marks

i) S I U O E R P C -i) S I U O E R P C -

ii) E E V R S E -

iii) E D R P W P A -


